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Solving Sequence
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A —>8—>3—>9—>1—>6—>10~>1 ﬁ4ﬁ5ﬁ12}>04,011
c Cg Ci0 C C12

A knot diagra C2 Cg (1 Cs

Ideals for irreducible component#ﬂ)f Xpar

I =l = 202+ 1)

* 1 irreducible components of dim¢ = 0, with total 31 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u —u?+ ... —2u% 4+ 1)

(i) Arc colorings

w- (1)

1
a7 = 0

1
ag = U2

—Uu

a3 = \ —u3 +u

—u?+1
ag = 'U,2

u3

ar= \u—uwd+4u

uwt—u?+1
a6 = _u4

—uS +ut -2 +1
alO = U/6+u2

wlt — ul? 4+ 4410 — 308 + 208 — 202 + 1

a11 = \ 1% — 2y + 6u'? — 8u!Y + 10u® — 6u’ + 4u?

W — 2 4+ 1205 — BuB
ay = u29—3u27+~-~—u3—|—u

wd —ul +3ut — 202 +1
as = —u8 — 2ut

—u?t +2ut? + -+ 6ud —u
a12 = \ 2! — 1 + 707 — 6ut® + 160’ — 11wt + 130 — 6u” + 3w’ —ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes

= 4130 — 12028 4+ 4427 4 60u26 — 8u?® — 136u2* + 44u?® + 344u?? — T2u?! — 592420 +
1841 4 960u'® — 240u'” — 1232616 + 372u'® + 1356u'* — 376u'® — 1232u'? + 388u'! +
896u'® — 300u” — 504u® + 204u” + 204u’ — 112u® — 40u* + 40u> — 12u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs5,Ce u31+5u30+,,,+4u+1
s, C9
Ca2,C7 W w21
C3,C4,C11 u31_u30+_.__2u_1
C12
c10 w110 4 - -+ + 904u 4 329




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,Cg y31 +43y30_~_._._32y_1
s, C9
C2,C7 3 =5y 4y — 1
C3,C4,C11 y31 —37y30+~-~+4y—1
C12
c10 y*t —25y% + ... — 9232y — 108241




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.791350 4 0.6656921

2.77292 + 2.490311

0.70638 — 3.369121

u = —0.791350 — 0.6656921

2.77292 — 2.490311

0.70638 + 3.369121

u = 0.734968 4 0.7309971

5.22440 4 0.493491

6.40243 — 1.428891

u = 0.734968 — 0.7309971

5.22440 — 0.493491

6.40243 + 1.428891

u= 0.862163 4 0.3604481

6.88853 — 4.311581

1.70139 + 6.756181

u= 0.862163 — 0.3604481

6.88853 + 4.311581

1.70139 — 6.756181

u = —0.720478 + 0.7909191

13.50980 — 2.171971

7.93260 4 0.277941

u = —0.720478 — 0.7909191

13.50980 4 2.171971

7.93260 — 0.277941

u = 0.861511 4 0.679212]

4.80823 — 5.721781

4.77645 + 8.091181

u= 0.861511 — 0.6792121

4.80823 + 5.721781

4.77645 — 8.091181

u = —0.906594 4 0.6986941

12.8848 + 7.65931

6.39810 — 6.241021

u = —0.906594 — 0.6986941

12.8848 — 7.65931

6.39810 + 6.241021

u = —0.853762

5.04240

—2.72190

u = —0.778513 4 0.2968521

—0.36181 + 2.943931

—1.66820 — 9.975641

u = —0.778513 — 0.2968521

—0.36181 — 2.943931

—1.66820 + 9.975641

u = 0.704905 + 0.1470611

—1.148080 — 0.3794841

—7.32750 + 0.545681

u= 0.704905 — 0.1470611

—1.148080 + 0.3794841

—7.32750 — 0.545681

u = 0.946436 4 0.9237161

12.91130 — 3.397121

2.13967 4 2.247041

u = 0.946436 — 0.9237161

12.91130 + 3.397121

2.13967 — 2.247041

u = —0.937373 4 0.9349007

15.4949 — 0.42801

6.07033 + 1.463421

u = —0.937373 — 0.9349001

15.4949 + 0.42801

6.07033 — 1.463421

u= 0.933748 4- 0.9470211

—15.3696 + 2.72481

7.83122 — 0.360821

u= 0.933748 — 0.9470211

—15.3696 — 2.72481

7.83122 4 0.360821

u = —0.960199 + 0.9219281

15.4193 + 7.25261

5.88050 — 5.999081

u = —0.960199 — 0.9219281

15.4193 — 7.25261

5.88050 + 5.999081

u= 0.971666 + 0.9244781

—15.4964 — 9.59741

7.61372 4 4.815311

u = 0.971666 — 0.924478]

—15.4964 + 9.59741

7.61372 — 4.815311

u = 0.286578 4 0.5931091

8.74676 + 0.949161

8.06495 — 0.105271

u = 0.286578 — 0.5931091

8.74676 — 0.949161

8.06495 + 0.105271

u = —0.280590 + 0.4011021

1.103510 — 0.3481731

7.83889 4 1.087821




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.280590 — 0.4011021

1.103510 + 0.3481731

7.83889 — 1.087821




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cs5,Ce u31+5u30++4u+1
€8, C9
C2,C7 w4+ 2 -1
C3,C4,C11 u31_u30_~_._._2u_1
C12
c1o w4+ 1100 + - - - + 904u + 329




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs5, C6 34430 . — 32y — 1
€8, C9
Ca2,C7 =5y Ay — 1
€3,C4,C11 y31—37y30+~--+4y—1
C12
c10 y?t — 25y ... — 9232y — 108241




